Racionalizar denominadores

1. Racionalizar: 2. Racionalizar y reducir:
M_% A= 1 + 2 + 1
3 2142  JB+v2  2J2 +46
a) J2 b) 3 c) J6
Jz
OE 97 & BeE A%
d) 1 e) 2
3. Racionalizar. 4. Reducir:
2 4
A H_ T= i + g + . FR— .
a) .2 b) 23 c) 3/6 dar el denominador.
/6 ) 18 b) 12 ) /3
dy —— N3 a c) 2
) 3 ) V6 d) 20 e) 10
5. Racionalizar: 6. Simplifica.
P= 3 M= 1 + 1 + 1 B 1
7 +2 JB1v6 6 -2 2142 42
a) JT42 b) J7T-2 o) JT+3 a) 2 b) -2 c) 2+42
d -3 e4 d) -1 e) 0
7. Racionalizar: 8. Racionaliza:
9 33
M= M-
J6 +\3 %
a) 3y6+43) b) Y6-y3 © J6+3 a) 5 b) 333 o 1¥3
d4) 3 &) 3(/6 -v3) d) 18 ) 3
9. Racionalizar: 10. Racionaliza:
44 8
P= P=g—
5 V3 Jie
a) 5-y3 b)) 3.2 ¢ 5+,3 " BIE e
5
d) 2(6143) ) 3+J2 d V7 o 4%
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